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R
a
tio
 
anal
y
sis
–
 
g
r
oss
 
and
 
n
e
t
 
p
r
ofit
 
ma
r
gins
Ac
c
ou
n
ting
 
r
a
tios
 
all
o
w
 
mana
g
e
r
s
 
and
 
other
 
s
t
a
k
eholder
 
g
r
ou
p
s
 
t
o
 
ma
k
e
 
jud
g
eme
n
ts
 
on
 
h
o
w
 
e
fficie
n
tly
 
a
 
business
 
is
 
being
 
run.
 
P
r
ofit
 
is
 
the
 
main
 
indi
c
a
t
or
 
of
 
h
o
w
 
w
ell
 
a
 
business
 
is
 
per
f
orming.
) (
G
r
oss
 
p
r
ofit
 
e
xplained
) (
G
r
oss
 
p
r
ofit
 
is
 
an
 
indi
c
a
t
or
 
of
 
h
o
w
 
e
fficie
n
t
 
the
 
business
 
is
 
a
t
 
making
 
and
 
selling
 
its
 
p
r
oducts.
H
o
w
e
v
e
r
,
 
the
 
figu
r
e
 
f
or
 
g
r
oss
 
p
r
ofit
 
on
 
its
 
own
 
does
 
not
 
help
 
us
 
jud
g
e
 
the
 
l
e
v
el
 
of
 
e
fficiency:
a
f
t
er
 
all,
 
a
 
la
r
g
e
 
business
 
is
 
li
k
ely
 
t
o
 
h
a
v
e
 
a
 
much
 
higher
 
g
r
oss
 
p
r
ofit
 
figu
r
e
 
than
 
a
 
small
business.
 
Conseque
n
tl
y
,
 
a
 
c
alcul
a
tion
 
is
 
used
 
t
o
 
help
 
us
 
jud
g
e
 
the
 
e
fficiency
 
of
 
the
 
business.
This
 
c
alcul
a
tion,
 
kn
o
wn
 
as
 
an
 
ac
c
ou
n
ting
 
r
a
ti
o
,
 
is
 
c
alled
 
the
 
g
r
oss
 
p
r
ofit
 
ma
r
gin
 
(GPM).
 
The
b
e
t
t
er
 
the
 
per
f
ormance
 
the
 
higher
 
the
 
g
r
oss
 
p
r
ofit
 
ma
r
gin
 
pe
r
ce
n
t
a
g
e
 
will
 
be.
) (
Calcul
a
ting
 
the
 
g
r
oss
 
p
r
ofit
 
ma
r
gin
 
(GPM)
) (
T
o
 
c
alcul
a
t
e
 
the
 
g
r
oss
 
p
r
ofit
 
ma
r
gin
 
t
w
o
 
figu
r
es
 
a
r
e
 
needed
 
–
 
these
 
a
r
e
 
g
r
oss
 
p
r
ofit
 
and
 
sales
(also
 
kn
o
wn
 
as
 
sales
 
turn
o
v
er
 
or
 
sales
 
r
e
v
enue).
) (
The
 
f
ormula
 
is
 
qui
t
e
 
s
t
r
aig
h
t
f
o
r
w
a
r
d:
) (
Gross
 
profit
) (
100
) (
x
) (
=
 
GPM%
) (
Sales
) (
1
) (
E
x
ample:
 
if
 
w
e
 
had
 
a
 
g
r
oss
 
p
r
ofit
 
of
 
£438
 
700
 
and
 
sales
 
of
 
£956
 
500:
) (
438,700
) (
100
) (
x
) (
=
) (
45.8%
) (
956,500
) (
1
)
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Comme
n
ting
 
on
 
the
 
g
r
oss
 
p
r
ofit
 
ma
r
gin
) (
When
 
the
 
GPM
 
has
 
been
 
c
alcul
a
t
ed,
 
a
 
business
 
or
 
s
t
a
k
eholder
 
c
annot
 
ju
s
t
 
s
a
y
 
if
 
it
 
is
 
g
ood
(high)
 
or
 
bad
 
(low)
 
without
 
c
onsidering
 
the
 
type
 
of
 
business
 
i
n
v
ol
v
ed.
) (
V
ari
a
tions
 
in
 
the
 
GPM
 
b
e
t
w
een
 
businesses
 
a
r
e
 
c
aused
 
b
y
 
both
 
i
n
t
ernal
 
and
 
e
x
t
ernal
 
f
ac
t
o
r
s.
I
n
t
ernal
 
f
ac
t
o
r
s
 
include
 
the
 
si
z
e
 
of
 
the
 
business,
 
the
 
quality
 
of
 
s
t
ock
 
c
o
n
t
r
ol,
 
mana
g
eme
n
t
of
 
e
xpenses
 
e
t
c.
 
E
x
t
ernal
 
f
ac
t
o
r
s
 
include
 
the
 
l
e
v
el
 
of
 
i
n
t
e
r
e
s
t
 
r
a
t
es,
 
the
 
type
 
of
 
indu
s
t
r
y
 
the
business
 
ope
r
a
t
es
 
in
 
and
 
the
 
t
a
r
g
e
t
 
mar
k
e
t.
 
The
 
i
n
fluence
 
of
 
both
 
s
e
ts
 
of
 
f
ac
t
o
r
s
 
be
c
omes
clea
r
er
 
if
 
w
e
 
look
 
a
t
 
t
w
o
 
e
x
amples.
) (
A
 
la
r
g
e
 
supermar
k
e
t
 
chain
 
will
 
h
a
v
e
 
a
 
r
el
a
ti
v
ely
 
l
o
w
 
g
r
oss
 
p
r
ofit
 
ma
r
gin.
 
It
 
m
a
y
 
buy
 
a
 
c
an
of
 
beans
 
f
r
om
 
the
 
manu
f
actu
r
er
 
f
or
 
20p
 
and
 
sell
 
it
 
a
t
 
25p.
 
Ma
n
y
 
supermar
k
e
t
 
chains
 
h
a
v
e
GPMs
 
of
 
a
r
ound
 
18%.
 
H
o
w
e
v
e
r
,
 
a
 
c
orner
 
shop
 
m
a
y
 
h
a
v
e
 
a
 
r
el
a
ti
v
ely
 
high
 
g
r
oss
 
p
r
ofit
ma
r
gin:
 
it
 
m
a
y
 
buy
 
a
 
c
an
 
of
 
beans
 
f
r
om
 
the
 
wholesaler
 
a
t
 
25p
 
and
 
sell
 
it
 
a
t
 
40p.
 
The
supermar
k
e
t
 
c
an
 
t
r
ade
 
with
 
a
 
l
o
w
er
 
GPM
 
be
c
ause
 
it
 
c
an
 
sp
r
ead
 
its
 
other
 
c
o
s
ts
 
(
e
xpenses)
o
v
er
 
a
 
la
r
g
e
 
number
 
of
 
sales.
 
On
 
the
 
other
 
hand,
 
the
 
c
orner
 
shop
 
will
 
h
a
v
e
 
r
el
a
ti
v
ely
 
high
e
xpenses
 
in
 
r
el
a
tion
 
t
o
 
sales
 
and
 
these
 
h
a
v
e
 
t
o
 
be
 
c
o
v
e
r
ed
 
b
y
 
a
 
high
 
GPM.
) (
B
e
t
w
een
 
dif
f
e
r
e
n
t
 
indu
s
tries
 
GPM
 
c
an
 
v
a
r
y
 
a
 
g
r
e
a
t
 
deal.
 
J
e
w
elle
r
s
 
m
a
y
 
h
a
v
e
 
a
 
v
e
r
y
 
high
GPM
 
(60–80%).
 
Th
e
y
 
m
a
y
 
sell
 
their
 
g
oods
 
a
t
 
t
w
o
 
or
 
th
r
ee
 
times
 
the
 
price
 
th
e
y
 
paid
 
their
supplie
r
.
 
A
 
dai
r
y
 
f
arme
r
,
 
h
o
w
e
v
e
r
,
 
mig
h
t
 
find
 
th
a
t
 
the
 
price
 
th
e
y
 
r
ecei
v
e
 
f
or
 
their
 
milk
 
is
 
little
mo
r
e
 
than
 
the
 
c
o
s
t
 
of
 
p
r
oducing
 
it.
) (
Non
e
theless,
 
e
v
en
 
with
 
these
 
i
n
fluences
 
on
 
GPM,
 
a
 
jud
g
eme
n
t
 
c
an
 
s
till
 
be
 
made.
 
Low
GPM
 
businesses
 
m
a
y
 
include
 
supermar
k
e
ts,
 
manu
f
actu
r
e
r
s
 
of
 
mass
 
p
r
oduction
 
g
oods
 
and
f
ood
 
manu
f
actu
r
e
r
s;
 
whil
s
t
 
high
 
GPM
 
businesses
 
will
 
include
 
r
e
s
t
au
r
a
n
ts
 
and
 
r
e
t
aile
r
s
 
of
upmar
k
e
t
 
g
oods.
 
The
r
e
f
o
r
e,
 
looking
 
a
t
 
the
 
ac
c
ou
n
ts
 
of
 
a
 
f
a
s
t
-
f
ood
 
outl
e
t
 
the
 
GPM
 
is
 
25%
 
–
this
 
is
 
li
k
ely
 
t
o
 
be
 
poo
r
,
 
but
 
if
 
the
 
ac
c
ou
n
ts
 
r
el
a
t
e
 
t
o
 
a
 
manu
f
actu
r
er
 
of
 
tinned
 
v
e
g
e
t
ables,
this
 
l
e
v
el
 
of
 
GPM
 
m
a
y
 
be
 
t
o
t
ally
 
acce
p
t
able.
 
O
v
e
r
all,
 
an
 
imp
r
o
ving
 
r
a
tio
 
o
v
er
 
t
w
o
 
y
ea
r
s’
ac
c
ou
n
ts
 
is
 
al
w
a
y
s
 
positi
v
e
 
and
 
the
 
higher
 
the
 
r
a
ti
o
,
 
the
 
b
e
t
t
e
r
.
) (
N
e
t
 
p
r
ofit
 
e
xplained
) (
N
e
t
 
p
r
ofit
 
is
 
an
 
indi
c
a
t
or
 
of
 
h
o
w
 
p
r
ofi
t
able
 
the
 
business
 
is
 
o
v
e
r
all:
 
this
 
is
 
be
c
ause
 
all
 
the
business
’
s
 
r
e
v
enues
 
and
 
e
xpenses
 
in
 
its
 
c
alcul
a
tion
 
a
r
e
 
included.
 
Li
k
e
 
the
 
figu
r
e
 
f
or
 
g
r
oss
p
r
ofit,
 
n
e
t
 
p
r
ofit
 
on
 
its
 
own
 
does
 
not
 
help
 
jud
g
e
 
the
 
l
e
v
el
 
of
 
e
fficiency
 
–
 
a
f
t
er
 
all,
 
a
 
la
r
g
e
business
 
is
 
li
k
ely
 
t
o
 
h
a
v
e
 
a
 
much
 
higher
 
n
e
t
 
p
r
ofit
 
figu
r
e
 
than
 
a
 
small
 
business.
 
Ho
w
e
v
e
r
,
 
the
small
 
one
 
c
ould
 
mana
g
e
 
its
 
e
xpenses
 
mo
r
e
 
e
fficie
n
tl
y
.
 
A
 
se
c
ond
 
c
alcul
a
tion
 
is
 
used
 
t
o
 
help
jud
g
e
 
the
 
e
fficiency
 
of
 
the
 
business.
 
This
 
c
alcul
a
tion,
 
a
g
ain
 
kn
o
wn
 
as
 
an
 
ac
c
ou
n
ting
 
r
a
ti
o
,
 
is
c
alled
 
the
 
n
e
t
 
p
r
ofit
 
ma
r
gin.
)
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Calcul
a
ting
 
the
 
n
e
t
 
p
r
ofit
 
ma
r
gin
 
(NPM)
) (
T
o
 
c
alcul
a
t
e
 
the
 
n
e
t
 
p
r
ofit
 
ma
r
gin
 
t
w
o
 
figu
r
es
 
a
r
e
 
needed
 
–
 
these
 
a
r
e
 
n
e
t
 
p
r
ofit
 
and
 
sales.
The
 
f
oll
o
wing
 
f
ormula
 
is
 
used:
) (
Net
 
profit
) (
100
) (
x
) (
=
) (
NPM%
) (
Sales
) (
1
) (
E
x
ample:
 
if
 
w
e
 
had
 
a
 
n
e
t
 
p
r
ofit
 
of
 
£136
 
500
 
and
 
sales
 
of
 
£956
 
500:
) (
136,500
) (
100
) (
x
) (
=
) (
14.2%
) (
956,500
) (
1
) (
Comme
n
ting
 
on
 
the
 
n
e
t
 
p
r
ofit
 
ma
r
gin
) (
When
 
the
 
NPM
 
has
 
been
 
c
alcul
a
t
ed,
 
c
omme
n
ting
 
and
 
judging
 
wh
e
ther
 
it
 
is
 
g
ood
 
(high)
or
 
bad
 
(l
o
w)
 
is
 
easier
 
than
 
when
 
e
x
amining
 
the
 
GPM.
 
The
 
type
 
of
 
business
 
i
n
v
ol
v
ed
 
mu
s
t
s
till
 
be
 
c
onside
r
ed,
 
but
 
the
 
NPM
 
does
 
not
 
v
a
r
y
 
b
y
 
qui
t
e
 
as
 
much
 
as
 
the
 
GPM
 
o
v
er
 
dif
f
e
r
e
n
t
indu
s
tries
 
and
 
si
z
es
 
of
 
business.
) (
A
 
business
 
with
 
a
 
high
 
GPM
 
of
t
en
 
has
 
p
r
oportion
a
t
ely
 
higher
 
e
xpenses,
 
whil
s
t
 
a
 
business
with
 
a
 
l
o
w
 
GPM
 
of
t
en
 
has
 
p
r
oportion
a
t
ely
 
l
o
w
er
 
e
xpenses.
 
K
n
o
wing
 
wh
a
t
 
t
o
 
e
xpect
 
will
 
help
t
o
 
ma
k
e
 
a
 
criti
c
al
 
c
omme
n
t
 
on
 
the
 
NPM
 
and,
 
impor
t
a
n
tl
y
,
 
the
 
dif
f
e
r
ence
 
b
e
t
w
een
 
the
 
NPM
and
 
the
 
GPM.
 
One
 
impor
t
a
n
t
 
f
ac
t
or
 
th
a
t
 
will
 
lo
w
er
 
the
 
NPM
 
is
 
if
 
the
 
business
 
is
 
r
el
a
ti
v
ely
n
e
w
.
 
A
 
n
e
wly
 
e
s
t
ablished
 
business,
 
in
 
its
 
fi
r
s
t
 
y
ea
r
s
 
of
 
t
r
adin
g
,
 
m
a
y
 
h
a
v
e
 
high
 
e
xpenses
 
as
it
 
tries
 
t
o
 
e
s
t
ablish
 
itsel
f
.
 
A
 
g
ood
 
e
x
ample
 
of
 
this
 
w
ould
 
be
 
high
 
e
xpenditu
r
e
 
on
 
ad
v
ertising.
As
 
a
 
r
esult
 
of
 
these
 
r
el
a
ti
v
ely
 
high
 
e
xpenses,
 
a
 
n
e
w
 
business
 
c
ould
 
h
a
v
e
 
a
 
l
o
w
 
NPM;
 
but
 
this
l
o
w
 
NPM
 
m
a
y
 
not
 
necessarily
 
indi
c
a
t
e
 
p
r
oblems.
) (
H
o
w
 
do
 
w
e
 
jud
g
e
 
a
 
g
ood
 
or
 
bad
 
NPM
 
and
 
how
 
do
 
w
e
 
c
omme
n
t?
) (
P
erha
p
s
 
the
 
easie
s
t
 
w
a
y
 
t
o
 
jud
g
e
 
NPM
 
is
 
t
o
 
c
on
s
truct
 
bands
 
of
 
per
f
ormance.
 
The
r
e
f
o
r
e:
)
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) (
A
 
NPM
 
of
 
18%
 
+
 
m
a
y
 
be
 
r
e
g
a
r
ded
 
as
 
g
ood,
 
indi
c
a
ting
 
e
f
f
ecti
v
e
 
business
mana
g
eme
n
t
 
of
 
c
o
s
ts
 
and
 
e
xpenses.
A
 
NPM
 
of
 
10–17%,
 
mig
h
t
 
be
 
vi
e
w
ed
 
as
 
s
a
ti
s
f
ac
t
o
r
y
,
 
but
 
c
o
s
t
 
or
 
e
xpenses
mana
g
eme
n
t
 
c
ould
 
be
 
imp
r
o
v
ed.
A
 
NPM
 
of
 
less
 
than
 
10%
 
c
ould
 
be
 
r
e
g
a
r
ded
 
as
 
poo
r
,
 
indi
c
a
ting
 
th
a
t
 
the
r
e
 
a
r
e
 
r
eal
opportun
ities
 
f
or
 
imp
r
o
ving
 
c
o
s
t
 
and
 
e
xpenses
 
mana
g
eme
n
t.
) (
•
) (
•
) (
R
emember
 
th
a
t
 
when
 
c
omme
n
ting
 
on
 
ac
c
ou
n
ts
 
an
 
all
o
w
ance
 
f
or
 
the
 
type
 
and
 
a
g
e
 
of
business
 
should
 
be
 
c
onside
r
ed.
 
W
almart,
 
the
 
w
orld
’
s
 
la
r
g
e
s
t
 
r
e
t
aile
r
,
 
has
 
one
 
of
 
the
 
l
o
w
e
s
t
NPMs
 
in
 
the
 
business,
 
a
t
 
bel
o
w
 
3%!
 
On
 
the
 
other
 
hand,
 
Mic
r
osoft
 
has
 
a
 
NPM
 
of
 
a
r
ound
48%.
) (
If
 
the
 
figu
r
es
 
th
a
t
 
h
a
v
e
 
been
 
c
alcul
a
t
ed
 
do
 
seem
 
l
o
w
,
 
businesses
 
and
 
s
t
a
k
eholde
r
s
 
should
look
 
f
or
 
the
 
main
 
c
auses
 
of
 
poor
 
per
f
ormance.
 
A
r
e
 
c
o
s
ts
 
of
 
sales
 
high?
 
This
 
w
ould
 
lead
 
t
o
a
 
l
o
w
 
GPM,
 
which
 
in
 
turn
 
m
a
y
 
lead
 
t
o
 
a
 
l
o
w
 
NPM.
 
B
y
 
w
orking
 
th
r
ough
 
the
 
p
r
ofit
 
and
 
loss
ac
c
ou
n
t,
 
individual
 
c
o
s
ts
 
and
 
e
xpenses
 
c
an
 
be
 
anal
y
sed
 
t
o
 
see
 
wh
a
t
 
the
 
c
ause
 
of
 
the
 
l
o
w
NPM
 
is.
) (
When
 
assessing
 
the
 
per
f
ormance
 
of
 
the
 
p
r
ofi
t
ability
 
r
a
tios
 
it
 
is
 
impor
t
a
n
t
 
t
o
 
ma
k
e
c
omparisons
 
with
 
other
 
businesses
 
in
 
the
 
same
 
indu
s
t
r
y
 
as
 
w
ell
 
as
 
making
 
c
omparisons
o
v
er
 
time.
) (
B
y
 
c
omparing
 
with
 
similar
 
si
z
e
 
businesses
 
in
 
the
 
same
 
indu
s
t
r
y
 
the
 
p
r
ofi
t
ability
 
of
 
the
business
 
c
an
 
be
 
c
ompa
r
ed
 
‘li
k
e
 
with
 
li
k
e
’
.
 
The
 
businesses
 
w
ould
 
be
 
e
xpec
t
ed
 
t
o
 
h
a
v
e
 
similar
f
e
a
tu
r
es
 
and
 
the
r
e
f
o
r
e
 
the
 
c
omparison
 
is
 
mo
r
e
 
v
alid
 
when
 
judging
 
the
 
signifi
c
ance
 
of
 
their
g
r
oss
 
and
 
n
e
t
 
p
r
ofit
 
r
a
tios.
) (
When
 
e
v
alu
a
ting
 
the
 
GPM
 
and
 
the
 
NPM
 
it
 
is
 
impor
t
a
n
t
 
t
o
 
c
ompa
r
e
 
these
 
o
v
er
 
time.
 
This
c
an
 
be
 
b
y
 
ju
s
t
 
c
omparing
 
the
 
business
’
s
 
per
f
ormance
 
o
v
e
r
,
 
f
or
 
e
x
ample,
 
a
 
fi
v
e
-
y
ear
 
period,
or
 
e
v
en
 
b
e
t
t
e
r
,
 
c
omparing
 
the
 
business
 
a
g
ain
s
t
 
similar
 
businesses
 
in
 
the
 
same
 
indu
s
t
r
y
 
o
v
er
the
 
fi
v
e
 
y
ea
r
s.
) (
One
 
y
ea
r
’
s
 
figu
r
es
 
m
a
y
 
be
 
misleading
 
and
 
not
 
a
 
true
 
r
e
flection
 
of
 
the
 
p
r
ofi
t
ability
 
of
 
the
business
 
o
v
er
 
a
 
lon
g
er
 
period
 
of
 
time.
 
B
y
 
anal
y
sing
 
d
a
t
a
 
o
v
er
 
a
 
lon
g
er
 
period
 
of
 
time
p
a
t
t
erns
 
c
an
 
be
 
ide
n
tified
 
and
 
a
 
mo
r
e
 
accu
r
a
t
e
 
e
v
alu
a
tion
 
of
 
the
 
p
r
ofi
t
ability
 
of
 
the
 
business
m
a
y
 
be
 
c
arried
 
out.
)
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Discussion
 
themes
) (
Wh
a
t
 
is
 
p
r
ofit?
 
Mon
e
y
W
eek
 
i
n
v
esme
n
t
 
tu
t
orials
 
–
 
includes
 
GPM
 
and
 
NPM.
 
h
tt
p
s://
w
w
w
.
y
outube.
c
om/
w
a
t
ch?v=IQu
Y
nADhu
w
o
) (
Explain
 
the
 
purpose
 
of
 
c
alcul
a
ting
 
p
r
ofit
 
r
a
tios.
) (
'A
 
l
o
w
 
NPM
 
is
 
not
 
al
w
a
y
s
 
an
 
indi
c
a
t
or
 
of
 
poor
 
per
f
ormance.'
 
Discuss
 
this
 
s
t
a
t
eme
n
t.
) (
'P
r
ofi
t
ability
 
r
a
tios
 
a
r
e
 
the
 
only
 
w
a
y
 
t
o
 
jud
g
e
 
business
 
per
f
ormance.'
 
Do
 
y
ou
 
ag
r
ee
 
with
 
this
 
s
t
a
t
eme
n
t?
)
